FHSEEMAFERM (19EEDEFEDRMPALDLE) REE (E5BS5+XKEZSES)

1 RI—ILR)—IZEDL 2 FARMESHHEE
= —1 ==
- EREDER - £ 000
: 94.3%
100.0% |62 pid I E iy
J7e 94.9% 93.2% 90.0% - “i‘ a1
90.0% - 20.0% - B
80.0% - "
70.0% - | mRSHTHEA
70.0% - "
m RSHTH 60.0% - ORA4RIHA
60.0% - :
50.0% - 20.0% 1 B
400% - 400% i T T 1
1$E 23E 3%EF 12F 2%F  3%F
3 £FFEBEDEE 4 EYLGERIES
100.0% 100.0% - gi% o o
90.0% 4% 90.0% L g
833%™ g% 83.1% ]
80.0% - 77.8% 78.1% __ 800% i |
70.0% - | mRSHTHA 70.0% - [ mRSHTH
£0.0% OR4RTHA 60.0% - | OR4FTHA
50.0% - - 50.0% - -
40.0% - . . . 40.0% - . . .
12E 2¥F  3PE 124 2%F 3%F
5 HEHEREHOERE 6 ERLTEIED
100.0% o
91.3% 100.0% 93.9%  93.19%93.9%
90.0% -E1SH ST go B80% 90.0% Lo ] 1 s
80.0% - — 80.0% -
70.0% - — W RSHTHA 70.0% - m RSATHA
60.0% - ORA4HITEA 60.0% - O R4AHITEA
50.0% - — 50.0% -
40.0% - . . . 40.0% - . .
128FE 22F  3FHF 135 2%HE
RS BIEAZEAREHE 7> 7 —hk — — —
T =’ B2 i3 fE4 E /5 E 6
1: %2585 19.7% 15.1% 16.0% 24.6% 22.3% 41.8%
220N =25 S 75.1% 72.6% 65.2% 65.8% 65.1% 49.7%
3HFEYESBHA 4.3% 11.5% 15.0% 8.6% 11.6% 7.1%
4Z5BHIEL 0.9% 0.8% 3.8% 1.1% 1.1% 1.5%
T IV 462 471 474 476 467 481




7 ERGEESREY

8 ARBLFRITE

100.0% 100.0% -~ 93.8% 94.3%g3 10,  93.8%
90.2% — T
90.0% = S5 90.0% - b
- 82.0%
79.2% ____
80.0% - - 80.0% - -
70.0% - L mRSHETEA 70.0% - | mRSHTEA
60.0% - O R4HTHA 60.0% - ORARITEA
50.0% - - 50.0% - -
40.0% -1 T T 1 400% = T T 1
126 225 3%F 128 2%F  3%FF
PRY s -I: > o - ~
9 #HEHLHFERIY 10 KEREEHED EA
100.0% 100.0%
92.2%910%  g93%
90.0% - TR 90.0% - 88'2%82% — ss._1%
80.0% - 798% 77.3%77.5% 30.0%
70.0% - - m RSHITHA 70.0% - - m RSHTHA
60.0% - | OR4ATH 60.0% - OR4RTE
50.0% - — 50.0% - -
40.0% - - - - 40.0% - . . .
IHE 2FE 3RE E 225 3%
11 WU ERBEROEE 12 FEERERIEDEE
100.0% 100.0%
91.4%92% 90.5%gg 306 92.8%g0 99
90.0% - — — 90.0% CE—
80.0% - - 80.0% -|76.4% TE T
70.0% - | mRSHEITHA 70.0% - = RSHTHA
60.0% - | OR4AETH 60.0% - OR4RTH
50.0% - - 50.0% -
400% = T T 1 400% n T - L - Ll
125 22F 3%H 125 225 3%H
R5 BIEAEREME 7 —b - — —
%_ _ BR7 B8 59 BE10 |BRI11 [EF12
1: %2585 17.2% 38.1% 19.8% 24.5% 30.1% 15.5%
210V =0VESES 67.4% 56.9% 62.4% 65.7% 61.3% 61.8%
3HFEYELIEDHEL 13.7% 4.1% 16.2% 9.6% 7.1% 19.1%
4Z5BHi0 1.7% 0.8% 1.5% 0.2% 1.5% 3.6%
#yﬁ)b&‘ 460 483 474 470 478 476




13 LWEHOBREHRE 14 FEERLE-FRER
100.0% 100.0% M'Wss._S% % 93.0%gp 19
90.0% 90.0% 1 B
80.0% 80.0% - B
70.0% - w RSATH 70.0% - — = RSHIM
62.2% 62.0° =i
60.0% 61.1% . 52% O R4RTHA 60.0% - | O R4AFTHA
50.0% - - 50.0% - B
400% i . . . 400% = T T 1
1 2 3 1F5 2%F 3%E
4 3 ~, =
15 ZERFHEOHER 16 EBRFORETOXEE
100.0% 100.0%
92.5%
o o 89.2%
90.0% 90.0% - CE e —
80.0% 74.29%715°6% 80.0% - [ ] ] —
70.0% - | mRSHTH 70.0% - —  WRSHTH
60.0% - O R4 50.0% A OR4RTH
50.0% - | 50.0% - -
40.0% = - T T 1 400% = T T 1
125 22HF  3%fF 125 2%F  3%F
17 BT BRI SR 1R it 18 SGHIZLDHERDIZDILMY
24 55 2 e
100.0% EEEHRDOM
o 914% 100.0%
90.0% | oo B o S 1ks
— ] 90.0% 857
80.0% - L = 80.1% s1.s%84'_°% 82.2%
N 80.0% - .
70.0% - — W RSHTHA 20.0% - m RSATHA
O RARTHA ' o
60.0% - :
60.0% ORARTEA
50.0% - - 50.0%
40.0% - " . . - . - 40.0% - . ; L
1% 2% 3% 125 22F 3%H
RS BIEAEAREHME 7> 7 —hk _ I —
= BE13 |BEN14 |E/15 |E/M16 [B17 18
1: 2585 9.9% 37.1% 19.0% 27.0% 23.1% 16.3%
2F--W0WV=0VESES 51.8% 56.4% 46.7% 60.0% 65.5% 67.0%
3HFEYESBHA 32.6% 5.6% 31.0% 11.0% 10.2% 15.2%
4Z5BHIEL 5.6% 0.8% 3.3% 2.1% 1.3% 1.5%
T 463 482 484 482 472 460




19 REMAEZTAELTEIR
HHDIZHEBZEED

100.0%

80.0%

63.62

c00%  d9.0opllv  6:8%554% % 100
. (v] . .

40.0% e . = l .

1224 it 34

ERSHTE] BRARTHA

RS BUSSEAREHE 7> 4 —b

- EEFFI:IEH 9
1: 2285 10.1%
2= =585 46.3%
3HFEY LB DAL 39.4%
4Z5B D7 4.1%
o TILE 464




